@hiw 4)

A distribution of grades in an introductory statistics class (where A=4, B =13, ctc) is:

;C(X)?m.lzs?su?’milm .’+.9-5+.3+)(_+.|=|
N
5. Findthg:lowcstgmdc X, such that P(XEX,]?::U.S ._,S-‘f X/ :I
3 Plxzq) =.10 <.5 % =.25
d 1
e. none of these 7 P(x ?_ 3) - ‘35 < ‘.5’

U2 EPI-8) P(22) =, (S not<.5
Pl =2) +P(x=3)+ P(x=Y)
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A headache remedy is said to be 80% effective in curing headaches caused by simple nervous tension. An

Bnonadd N=100 p=.3

investigator tests this remedy on 100 randomly selected patients suffering from nervous tension.

11. What is the probability that between 75 and 90 (inclusive) of the patients will obtain relief?

a
b
C.
d
e

D |

. 0.0993
. 0.8663
0.5398
. 0.9102
. None of these

2 ow R aw

13 94

P(154 X £ap0)

I8 L L

9909 . ...

[ 0D

P(X < a) = bunomedf (n,p,0) or Pbtﬂﬁm(aJmP)
Px «9) - Pbmom(ﬂlojm-‘o',,?)

syt
DY £7M)

A N
¥ Pla<Xep) = Pheb)-P(X<a1) W
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A quarter back completes 60% of his passes. We want to observe this quarterback during one game to sce

how many pass attempts he makes before completing one pass. P = @
15. What is the probability that he attempts 4 or fewer passes before he completes one? d
a. 0.0256 —_—— —1.,"\ 4 .|_]
b. 0.9898 mp]e-laf; Y D JLI 3 e -
c. 0.9744 J J
d. 0.0102
e

R probability that the first success occurs on the n"  trial s
— g ri—1
Geometedf( -6,5)= PX2 & P(X=m)=0-p)"'p

Pheom (4 1)+ plceS) 1 Ptx=5) = (9 ) ()

Popemiads VS Blomedric

pr"-bb, of Success
Same for each +rwd.;t|3) < V\E‘n’“ﬁkﬁﬂﬂtj

l'ndap. treals

Know n Aon+ know A —

(tvta) trealt) e
The probability that it takes more than n trials to see the first success is

P(X > n)=(1-p
EmPitmn-l- N o bove whel d.
Public Page 2 be [£ s §more thin &




P(X 2a) = geometed £ (g, a)
poeor (a-1,p) btomedrie

Plx=0) = quometpdf (5 a)
dgeorn ((],'-lJ P)

S

P(yzoy = piomed £ (0 pla)
Pbmbm (ajn_..p) &mmid

P(x =) = btnh‘m'PdTC (n,p 9
4 oo (00 P )
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3.) - 1 234
EpTg e s % 3 4 <
aplashese Makox e ity Do 213 % 5 @

3 Lt - 31d. & X 7
(L) 0,3 () B\ 4156 1 X
_—

(2,3) (,u) (3,4) [

Plam=-3)= o = i

sum | 3 L5 Lo
P | Vo
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12. In a lifter of seven kittens, three are female. 3 ‘:' L} m '-l -]—0{_&-'

You pic ittens at random.
%a, Create a probability model for the
number of male kittens you get.

A ) i mm mFE FE
distributiol——
VWVir V=R 1 0 maleo
WM\

< 2 |
on\ X% 0 4

4Co yCa, . Some Py,
A9 l el = OO

Sa_mp\e Spote = 2Ca

> anolesf-\rumq ond. & fumalin from 3

Prob ‘}3 \ malls = qclpe’cl
1C2
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3.5

12. Of the automobiles produced at a particular P q
plant, 40% had a certain defect.

a. What is the probability that more than 50 l - )

cars will need to be inspected hefore one q_\ P ( R > g b) ( Ll
with the defect is found?

b. What is the probability that the twentieth

car inspected will have a defect? bj P ( Y = Q_D 5

¢. Suppose a company purchases five of
these cars. What is the probability that

exactly one of the five cars has a defect? c) n 0 w l _I_S bLn D'r\f\l aﬂ) n = 5-

Plx=1) = bmmpdf(EJHJD
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Question 9 ®3

In testing a cenain kind of missile. target accuracy is measured by the average distance X (from the target) at which the missile explodes.
The distance X is measured in miles and the sampling distribution of X s given by

S N

R P

Calculate the variance of this sampling distribution.

o £ D= 0(Yu)+10(tim) 5 (Fn) Hen (334,
i £l = 00315 (41) + 56°(Ha ) 88" T

S Vor= ELT-(esd )

d) © 859

f MNone of the above

ElxJ = 8528235294

Elx*] = gad [ 1TeYTY
NVorTy] = 82Ut 116 — (35.83)%

= 365 ,Q
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Question 12
A random sample r@eﬁwmmnu is taken from the following population of vﬁ@ is the probability that the range
of the sample is 67

range = MAax- i

a) 05 [ N " 1 N 1

i L L t T —
b @02 o | 3 4 1
c) o4

@ Go, (0,1) <1
o @03 (0,3)~3
0 @ None of the sbove (D’LD:"'I
(0,7)=7 L
(1,3)= %
(1,u)=3
([1'1) =6
(3,86)=1

(3,5
Public Page 8 ( Lh-) — 3



Question 13

A furniture store is having a sale on sofas and you're going to buy one. The advertisers know that buyers get to the store and that | out of 4
sive sofa than the one in the sale advertisement. Let X be the cost of the sofa. What is the average costof a

sofa if the advertised sofa is $300 and the more expensive sofa is $4507

buyers change to 5 m

ay 00 33000

by 337 50

X |30 | 4

IR

~ T~

o)

Duestion 10

e, A,E[X:I-:- %00 (3/'-0 T 49‘5(%’)

X \

\

£4Qg {::cm%m%m

P(x)

| EZ Elx]= G (q‘-yl®> -95 {%ﬂ))

Suppose you want to play a carnival game that costs 5 dollars each time you play. If you win, you get $100. The probability of winning is
Jf'tm. What is the expected value of the amount the carnival stands to gain?

S
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Juestion 8

In testing a certain kind of missile, target accuracy is measured by the average distance X {from the target) at which the missile explodes.
The distance X is measured in miles and the sampling distribution of X is given by:

x_Jo_]fio ][s0 Jfioo]

ol s senpling disbtin.
EGT = 0 (Vo) s 1o (Vo) () 10 [3¥ao )
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(ou did not answer the question.

Amﬂncal components exactly one is known not to function properly df 4 cymponents are selected randomly, find the probs
that exactly one does not function properly.

Plal Funcien = 0 5Cs
6 Cq
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QA & I1<

The prebability that a randomly selected person has high blood pressure (the event H) is P(H) =04 and the probability that a randomly
selected person is a runner (the event Ry is P(R) = 0.5. The probability that a randomly selected person has high blood pressure and is a
——

runner is (0.1, Select the false statement.

a)

b)

c)

d)

F{;uH°}=u.9 H R
RICD
P(H AR =03 5 o
PRUH)=08 | —
P(HUR) = .¢
H and R are mdepmdﬁntemnts
\ > PHYPR) = P(Hnr)

H and R are not 1'r:|||1:|.12|].l:|,f exclusive, l =

(NESY £

>4 mu.muﬂna
C Wcluswelss Plunw)=

(¢
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Suppu@nd is drawn from a deck of 52 playing cards. What is the probability of drawing a 5 or a king?
1
a) @ A3 P(H) I
y — -'—'— -

\p(s) - 5 - L

Z 7 13

b .lﬂsn

9B

_— ]
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03 #7

LM

Suppose you have a distribution, X, with mean = 29 and standard deviation = 6. Define a new random variable Y = 4X - 5. Find the mean

and standard deviation of Y.
a) WE[Y]=i1l:0v=19
b) U E[Y] = 116 0Y = 9%
¢) D E[Y]=111;0v=96
d) ©E[Y]=116:0Y =19

) ElY]=11l:o0v=24

Public Page 14

Elx1=29 Ox=G6 VARKX]=23,
Y= 4x-5
ETY]- Eldx-5]=4elx]-5
Viery] = 4> VARDx]

63 = L‘"é)c = L}'(&)



A headache remedy is said to be 80% effective in curing headaches caused by simple nervous tension. An %
investigator tests this remedy on 100 randomly selected patients suffering from nervous tension.
6. Define the random variable being measured
a. X= the number of people who have headaches cured
b. X= the number of people who take the remedy

. X=the number of selected patients
d. None of these

X
P(x)

e, Pselect S’Pahen’rs) 27

b. p(g PQOPlﬂ 6Q'|f'|/h@ {awi%—))?
9 P( 15" P@P\é nevo hﬂﬂdﬁfhﬂ CJJff?C-'\?‘)
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p(niB) . P(AAB)
A P(B)

p(E n@l
P (F) .37

5. P(EF) =
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